Lect02-20180110

Tuesday, January 9, 2018 9:34 PM

In the context O% )
cecall the de-&iv{cﬁm of- wteciov .

ACYX, omd %EA < an
e P&V\‘C C{ -l $>0
Y, e BO%, L) C A

WithouX wetvic, only (%, 3,
how o ol&ﬁv\ﬁ thhs Cwevt?
beﬁv(\’t‘(m Lﬁt A CX

’X@e/\ & o ontexoyr \>D'w$ o'g A
§ AU, %eUCA
Dendted %o € A o TatW)

ba-&lh‘rﬁm. Lk xe X .
NCX 1S oo neghborhol o X

I% x € T

note - nay wt be spem.

exerase. Use the olove clc—ﬁvi'ﬁm, o

<

Aed & A=A

Queston. Given 04.35 oad  XEX
Weite N, = ENCX: xefﬂ&




Ut <omie condtions theX \/V;( mf‘tﬁ‘\es
Hints .
@ Let Nelx, relotion betweon X and N 2
Answex © rxe NV Ne\/l/\'x

@ LeX N\/‘\‘é\/\rx, \IJ\/‘OCt CM\\/M gwa”
Aroswer ' MaN e\/@

Nt @) => A2 is coed undin fiike M.

@ Llet NeNK emd NCTM,
whet \r\a’ﬁ;bv\s ‘o WM 7
Anewen. Me \/V\p(
Note: (N2) = Q?
ﬂ/,< 18 closed uwden
O\/Lb"c'trm“a VAL 6N
@ LeX ACK , consides tha
SeX E\QSGA : AQ\NQE
Whett & e
Answer: With ) givun , Tt s A

Moveover , € we know AeNx
whet oabouwk +he above ek 7

Redx = Tyeh: Ael e
Note: Ths last frek wplies (R) =N
Now, we can @ the velofion \etween
Topologu amd Neghborhood  system.



Theovem . §\Aﬂ>os< o ek X hay a Maﬁf\ﬂc}
x +— MNx PO ga’t‘tsfa:v\%

@ V Vel , xeN

@ ¥ M Newk, MAN el
(W T Hewx ond NCUCX ther Wedlx
@ Denste AT =T A Ay

W AN for amy x Then K& el
Then there & @ wwl%v\a ‘bb\w\am 3

or X Sudh X My contdivs emdt\Aa
a\l nbhds of X A=K ¥ ACY



